1.

SA3x-4=Tx+5Z 0]
o #22(, m > 0)

9 9
-3 93

Folod mx+n=09 E&Z 11

® -13

@ -36



@ 2x+3=1—2x=1-3

@ -2x+7=x+1—-2x-x=1-7
@ 5x+10=2x+1—5x-2x+10=1
@ 10=3x+1—3x+1=10

® 21 -3x=0—21 = 3x




Rl™

=1

_.

ul

3



@ x=-2

@ x=-10

O x=-15

® x=10

@ x=-2



A X790 _9+2x

o 6™ =4

. Tsﬂ H7F x = ad ], xof TS AxpurA Al
0.3x —a = 0.5x + 2 2] S}= F5toiet.

B




_ 2 — 3 _ -
6. A —g+1:x—§ﬂsﬁsa, g et e,

ax b e Fotolet.

>

o



A 3x-7=206x+a) W7t x=-3Y ], a9



? _§ © -2 @® -5 ® -11



9. e AN F LAY 2 47 HE AL

® 2x=10-3x @ 9-2x=x
®2(x+2)=1 @ 3(x-1)=4x

® 4(2x-3) = 5x



10. o= S HAA32x-1) =x+12 9
™9

@ 3(x-1)=2x-1
® 12x-6=2x+4

® 2(x+1)=5x-7

®

si7F 22 A

o
[\]
=

~Ax+2=3(x-1)45

4x-2(x-2) =10

K

[l



